EARAROBEEIERT — 2 N— IBISH —F

20145F9A30H () 11EAFH2H

Pl SR 2 3 0 Ak

‘ [R1%] & ‘ [RERBE] — | & (£) 12000 B

[A~&£] 1 7% :1,600,000  ~ 23 :560,000 ™ 37 :320,000H"

4 7 240,000 B 5 3& : 160,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. HEIRTHEE :16. — . — FEEFEYe (KFHF)
1 &N 4 AV U (/7 "2 54.0 1(1_6)5 &8 .2 2 :1:124) A /=
L2917 hhHL> b BiLTF4T24— MBS
o AR 7. - . - HAR—RK (KFH)
2057 RIA2YyH 4 2 uas 1(137)1 6-5 40.1 3 (4_6;) s
Z:x4m B:xAYE b Yriva LB
g ft 2 | ABEX 1:17.8 1-1 N8| — 5 457 | SLAEMR (KH)
l 3 K 54.0 3 1/2) o) |EEEHR
LRI R XN BTy KM 5— JaA—T7—L
soa == s LTHfEA : - — HEMR (KH)
Mol vrFLsvag i 2 T 1.(138).4 7-7 4.1 4 (4:561) L
R:F v 7T 44— B:gLOVH—F EEilie
AN 5 # 2 | LiBEBETE 1:18.5 4-3 20| — 9 457 | SIB=EB (KFH)
5(08/13 ENXZ—F14 b 54.0 (3/4) (-9) ?Eéﬁ'ﬁ?‘
L:7NHtEy b B:Tr—XNRUA BR —
S EHEC :18. = . — #MEME (KH)
6lglia| ¥r—o72z70U— 2 e N R ° 8 | mEee
R:VvZ>t5T744L BI>YINTT HE A
=y ft 2 | FHWE 1:19.0 10-11 Mna|l - 12 | 446 |EEMME (KIH)
71111 Z>/Sb—F 54.0 (7E) 1 |NNEFE
L:T7IWhtEy b BiIA T —XL—FK BAR77—L4
. . 4 2 | SEFHEK 1:19.2 14-14 | 39.8| — 14 388 | BIEAR (KH)
8 10| ¥7Hy3av> 54.0 (3/4) 2) HEag
R:ibwHIIY—k B:733 #E BE
e N = “ fHaAEsE 19. - . — KiEEE (KFHF)
9!5!8 I F4LYF 4 2 an 1(31/94)3 9-9 4.7 7 (426) 7(5%:!&_%9&
R:Tov78%Y—F B:Yavzxv/NF e
> s 4 o2 | EHE— 1:19.4 1M-10  |41.4| — | 11 | 444 |ERE CKH)
1o |F-*v b1—-TN 54.0 (172 Ly | EEEZ
R:2¥— XK BTV o797 BALBRS
HEE :19. — . - AfRHZRE (KH)
1lzliol 71 T27LH o2 S 171%5 13-13 | 40.6 13 z:(z)gs i
R:rh—> B:NLILY ElEEe
“ . o2 | BEEX 1:20.1 12-12  [42.0| — 10 | 402 | ARELE (i)
. B2 ErE: 2510 @ ) | (B) wEETH
:Nd B:7x7—FT—IEAL TEESS
_ = - fo2 | WHRK 1:22.7 3-3 4.5 — 1 485 | MAEHEZ (KH)
18jz1| F-A71=> 54.0 (51 ) o) | EEER
LENTIFANRTE B:TI—LT 1=K IE=Sie]
S S BB :23. — . — TESRISHD (Z\#k)
14l 5| T7Fa1—2R 2 | BB 1(223)1 55 46.6 8 (4+337) gmﬁ%ﬁ /I
L:xA1=ZTyr—R B:TIRRAT7—F HET77— L
® 1—F—@EBIERL
13—7-—
2o=5"=
Ja=5= 3,14,11,13,5,7,6,4,8,1,9,2,12,10
43—F— (8,14),(11,13),(5,7) ,6,4,8,9,1,2,12,10
[ N5
B 4 440M 714K 4-7 520M e E 3-5 600 JEE 3-4-7 2,980M
B B 4 180H4 3-4 580M e B B 1,190 3EE 4-7-3 21,010
7 200H 3-7 800M B & 4-7 1,660M
8 290M B H 4-7 3,590

ABICOVWTRDTEEERROODE. TR LIV,




